Simultaneous readout of two full chains

SETUP:

® SaSeq

® Adapter Card power routed through 80c cable
(required modification of a second AC channel)

® Junction Card with two channels connected to TP cable

(see next slide...)
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Simultaneous readout of two full chains

Junction Card with three TP cables: a number of issues...
® all three cables labelled wrong

® only one channel functional

® second channel: two data lines not connected:
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two neighboring JC channels work — can read out two hybrids
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First measurements: noise

purple card | purple card | full chain | full chain

1 hybrid 2 hybrids | 1 hybrid | 2 hybrids
total noise 1.10 1.09 1.04 1.04
diff. noise 1.06 1.06 1.00 1.01

(ADC counts)
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First measurements: currents

full chain | full chain

1 hybrid | 2 hybrids
IB 5V 1.61 A 1.88 A
IB 15V 0.21 A 0.21 A
AC 5V 18 mA 45 mA
AC3.3V| 110 mA | 224 mA
VDD 0.92 A 1.87 A

These are currents during readout!

Same scaling behaviour in all other states.
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The road ahead

work required for more simultaneous readout channels:

® modify more IB channels (firmware!)
e modify more AC channels (rather simple)

® need more twisted cable/)JC channels (...)
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